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Q1. RAGINI is positioned 18th from the left and 43rd from the right.
What is the total number of persons standing in the row? TfaAT I
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Q2. In a row of 35_bnijHOURYA is standing at the 9th position from
the left. Then how many girls to the right of SHOURYA? 36 aga»‘r $Y
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Q3. Jeev ranks seventh from the top and twenty eighth from the
bottom in a class. How many students are there in the class? Th h&T
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Q4. Some boys are sitting in a ro@is sitting fourteenth from the left

anc@is seventh from the right. If there are four boys between P and
Q, how many boys are there in the row ? #& o3& THh Ufed A o5
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Q5. In a class of 180, where girls are twice the number of boys,
Rupesh[a boy] ranked 34th from the top. If there are 18 girls ahead of
Rupesh, how many boys are after him in rank?180 &Y T el &,
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Q6. A total of 150 people were standing in a row. Kakul was standing at
th@' position from the left. Mehul was standing a position
from the right. How many ople were standing between Kakul and
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Q7 In a row, Mansu is at the 25th position from the left and Manra is at
the 39th position from the right. There are 21 students standing
between Mansu and Manra. So, What is the total number of students
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Q8 In a row, Reshu is at the 41th position from the left and Nishu is at
the X™ position from the right. There are 21 students standing
between Reshu and Nishu. Total number of students in the row is 82.
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A. Either 20 or 64
B. 63
C.64
D. Either 20 or 63




Q8 In a row, Reshu is at the 41th position from the left and Nishu is at
the X™ position from the right. There are 21 students standing
between Reshu and Nishu. Total number of students in the row i@
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